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1. Rodney has a machine shop that is rapidly expanding in business.  This type of business is in fact thriving in this region in general.  There is lots of work but also lots of people to do it.

Rodney decides to expand greatly by acquiring 8 type-A lathes costing $40,000 from Irma.  Rodney chooses to buy from Irma because she has sent out a catalogue showing the type-A lathes and describing in detail what they can do.  These lathes are described as doing all the things Rodney will need them for and more.  Rodney goes over to Irma’s place of business and has a quick look at the floor model.

They reach an agreement on 1 January.  Payment is to be in cash except for $3000 worth of a particular type of aluminum valve that Rodney makes and that Irma needs – 20 in all, 10 to be delivered by Rodney on 1 June and 10 on 1 July.

The 8 lathes are to be delivered to Rodney on the first of each month starting on 1 February.  Payment by Rodney is “when Rodney is able but in any event half by June and the rest by the end of December”.

The first four lathes are delivered and Rodney uses them but he is not particularly happy with them.  They are all one to two weeks late in being delivered. They are somewhat slow at high speeds which is fine for the type of work Rodney presently has in mind, but might be a problem for some future work if Rodney gets it (as he hopes to).  

Also two of the machines have a type of screw that is not supposed to be used on machines sold in this province.  Those screws do not for the moment affect the performance of the lathes.  In any event, Rodney has several replacement screws that could be easily put in if necessary and they are in conformity with the regulations.

When the first four lathes are delivered, Rodney signs a paper as soon as each of the machines are in his possession saying they are received “in good order”.

The fifth lathe is delivered in June, again a week late.  It contains the problematic screws too.  Unbeknownst to Rodney (and forgotten by Irma) is the fact that a creditor actually has a lien on this machine.  That creditor has decided, nonetheless, to ignore the lien.

This fifth lathe is even slower than the other ones and the use of it will put Rodney behind in several of his contracts.  If the next three are similar, it will really put him behind and seriously impair his ability to do that more advanced work mentioned earlier (if that work comes in).

Rodney is getting his mechanic to work on the five machines after hours to see if they can be made to work at the higher speeds.  So far the mechanic has had no luck but he is still trying.

So at the end of June, Rodney announces to Irma that he will not accept the next lathes and in fact asserts a right to reject the ones that have already been delivered.

Rodney had, at the beginning of June, sent on the first aluminum valves to Irma.  She has not used them yet, but they are beginning to corrode, something they should not do for a few months yet.  Rodney has made the second set of 10 valves but he accidentally sells them to Tony in the middle of June – though Tony has yet to collect them.

Irma has the sixth lathe ready to go to Rodney.  It is all packaged and has his name engraved on it (as was the case with the earlier lathes).  Irma in fact has lathes 7 and 8 on hand, except that there are varying amounts of calibrating to do on them.

Irma is upset that Rodney will not take the lathes and that he wants to return the others.  She says they are fine for what he wants, except for some minor repairs.  She is not happy with the valves he sent and wonders whether the other 10 are the same.  Irma wants to be paid as well.  Rodney is standing firm (though he is continuing to use the lathes he has received, lathes which could easily be unplugged for shipment back to Irma).

Irma has just found a person who would like to buy lathe 8 “as is”.  On 29 June she sells it to him for $2500.

It is now 1 July.  Rodney comes to you with all these facts.  Advise him with respect to the relevant issues and material we have covered in this course.  Assume everything has occurred in B.C.  

END OF EXAMINATION

